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Mr. Loiselle: Madam Speaker, the hon gentleman said
I do not understand. That is your problem. You have
never understood this problem and you still do not
understand it. To repay not a $100 billion debt but a $200
billion debt would mean $40 billion of repayment a year.
The interest on the debt was $22 billion. In that current
account there was a $16 billion deficit. You should revisit
your numbers. This is the problem. To pay it back we
would need to have $40 billion on top of our expendi-
tures. This is the legacy you have left to this country and
you should be ashamed of it.

The Acting Speaker (Mrs. Champagne): The period
for questions and comments has now expired. I think the

day should be coming close to an end when everything is
going across the floor without coming through the Chair.
I understand there is an agreement between the parties
that the Chair should call it 6.26 p.m. Is there unanimous
consent for that?

Some hon. members: Agreed.

The Acting Speaker (Mrs. Champagne): It being 6.26
p-m., the House will now adjourn until eleven o’clock
tomorrow morning. Accordingly, this House stands ad-
journed until tomorrow at 11 a.m., pursuant to Standing
Order 24(1).

The House adjourned at 6.19 p.m.




